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QUESTION 1

What must occur following a non-logged transaction before normal dump transactions mayresume?
A. a transaction log dump with theno_log option

B. a transaction log dump with thetruncate_only option

C. a truncate table on the table in question

D. a database dump

Correct Answer: D

QUESTION 2

Maximum database size for 2K pages is?
A.32GB

B. 256 GB

C.2TB

D.4TB

E.8TB

Correct Answer: D

QUESTION 3

represents the average amount of repeated data in a column.
A. Cluster ratio

B. Total density

C. Histogram weight

D. RangeselectivityX

Correct Answer: B

QUESTION 4
When sizing additional network memory, how many packets does each connection require?

A.2
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Correct Answer: B

QUESTION 5

Which of the following may lead to increased deadlocks? (Choose 2)
A. Converting tables todatarows locking

B. Accessing tables in a different order in different programs

C. Decreasing the memory allocated to the procedure cache

D. Using isolation level 3

E. Configuring large 1/O buffer pools

Correct Answer: BD
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